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BOO[A] faCB double tO,dtfac;

double facB,start to;/

sprintf(iname, "kickIng

infile=fopen{iname,"r");

fscanf(infile, "%s",sdmy);printf("1---=%s\n",sdmy);

fscanf(infile, "%1f,%1f" ,&facB,&TK);

fscanf(infile, "%s ,sdmy);printf( 2--=%s\n" ,sdmy);
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int evtCnt=0;

while(fscanf(infile, "%Lf ,%Lf , %1LF, %1LF" ,&xtmp,&ytmp,&ztmp,&ts)==4){
xp[evtCnt]=xtmp; f/m
yp[evtCnt]=ytmp;
Zp[evtCnt]=ztmp;
tp[evtCnt]=ts*1E-9;
evtCnt++;
if(evtCnt=127)break;
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}

fclose(infile);

evt(nt)
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double kickTime;
double int_time;

int kick status;

for(int 1=0;i<evtCnt;++i){ kicklnput.txt T#EE L 7=
x[0]=xp[1]; FERE, Rzt v b

x[1]=yp[i];

x[2]=zp[1];
ts=tp[i];
RM:sqrt(x[-:5:]*x[-:5:]+x[;]*x['_]);

tﬂsqrt(powu[ ],_))-= 0
kick spatial=kickSpatial3(facB,ratio,x,BRkicke,BZkicke,kickTyp);//Kicker-2D-cir

kick status=08;

if(ts<end kick){
int_time=ts;
Iu_ck statu
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bx[l% gBR+BRk1ck)*x f(r:lunubl )RM ibj_ /I_/_EE.T L’ T \’\ z) @

by[1]=(BR+BRkick)*x[1]/(double)RM; 2 EE

bg[t]=82+gzkizﬁ; * - T\ N E L/ T < 7L

evtCnt) =Ly,




